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Square  Roots  AND  Cube  Roots

(i)   ?111 2  (ii)   ?1111 2 

(iii)   ?45 2  (iv)   ?65 2 

(v)   ?85 2  (vi)   ?95 2 

(vii)   ?47 2  (viii)   ?46 2 

(ix)   ?49 2  (x)   ?38 2 

(xi)   ?36 2  (xii)   ?34 2 

(xiii)   ?54 2  (xiv)   ?57 2 

(xv)   ?62 2  (xvi)   ?67 2 

(xvii)   ?53 2 

(i)   ?99 2  (ii)   ?999 2 

(iii)   ?107 2  (iv)   ?113 2 

(v)   ?106 2  (vi)   ?93 2 

(vii)   ?87 2  (viii)   ?84 2 

(i) ?7921  (ii) ?4489 

(iii) ?9216  (iv) ?6889 

(v) ?3481  (vi) ?12544 

(vii) ?17956  (viii) ?32041 

(ix) ?45369  (x) ?56169 

(xi) ?58081  (xii) ?63504 

(xiii) ?84681 

4. (i)  ?1851933  (ii) ?2269813 

(iii)  ?4745223  (iv)  ?5513683 

(v) ?9126733  (vi) ?5927043 

(vii) ?9411923  (viii)  ?2500473 

(ix) ?14428973  (x)  ?20483833 

(xi) ?14815443  (xii) ?16016133 

(xiii)  ?10927273  (xiv) ?15208753 

(xv) ?12250433  (xvi) ?15608963 

(xvii) ?26280723 

5. If ,2256  x then x is equal to:

(a) 64 (b) 128
(c) 512 (d) 1024

6. Given than 644096  , the value of

004096.96.404096   is:

(a) 70.4 (b) 70.464
(c) 71.104 (d) 71.4

7. 14452248 

(a) 14 (b) 16
(c) 16.6 (d) 18.8

8. ?
8

256

12

576

169

338


(a) 8 (b) 12
(c) 16 (d) 32

9. If 
39

54

169


x
, then x  is equal to:

(a) 108 (b) 324
(c) 2916 (d) 4800

10. If 





 






 

13
1

169

27
1

x
, then x equal to:

(a) 1 (b) 3
(c) 5 (d) 7

11. If 12515625  , then the value of

5625.125.15615625   is:

(a) 1.3875 (b) 13.875
(c) 138.75 (d) 156.25

12. ?
16

9
1 

(a) 
4

3
1 (b) 

4

1
1
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(c) 1.125 (d) None of these

13. If 642 n , then the value of n is:

(a) 2 (b) 4

(c) 6 (d) 12

14. If 732.13   and 414.12   the value of

23

1


 is:

(a) 0.064 (b) 0.308

(c) 0.318 (d) 2.146

15.
128

4832




= ?

(a) 2 (b) 2

(c) 4 (d) 8

16. ?
4

3

3

4


(a) 
32

1
(b) 

3

1

(c) 1 (d) 
6

35

17. The least perfect square number divisible by 3, 4,
5, 6, 8 is:
(a) 900 (b) 1200
(c) 2500 (d) 3600

18. If ,72401 x  then the value of the x is:

(a) 3 (b) 4
(c) 5 (d) 6

19. What smallest number must be added to 269 to
make it a perfect square:
(a) 31 (b) 16
(c) 7 (d) 20

20.  ?
96

21624




(a) 62 (b) 26

(c) 2 (d) 
6

2

21. A gardner wants to plant 17956 trees and arranges
them in such a way that there are as many rows
as there are trees in a row. The number of trees
in a row is:
(a) 144 (b) 136
(c) 154 (d) 134

22. ?
216

91
13 

(a) 
6

5
1 (b) 

6



(c) 
6

91
1

3

 (d) None of these

23. What is the smallest number by which 3600 be
divivded to make it a perfect cube?
(a) 9 (b) 50
(c) 300 (d) 450

24. The difference of the squares of two consecutice
even integers is divisible by which of the following
integers?
(a) 3 (b) 4
(c) 6 (d) 7

25. The difference of the squares of two consecutice
odd integers is divisible by which of the following
integers?
(a) 3 (b) 6
(c) 7 (d) 8

26. Which one of the following cannot be the square
of a natural number?
(a) 30976 (b) 75625
(c) 28561 (d) 143642

27. Which one of the following cannot be the square
of a natural number?
(a) 32761 (b) 81225
(c) 42437 (d) 20164

28. 3 641913214 

(a) 3 (b) 9
(c) 7 (d) 5

29. 19686134 

(a) 14 (b) 16
(c) 12 (d) 18

30.
34

34

34

34








(a) 3342  (b) 3342 
(c) 7 (d) 4
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